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C oy 1L
1. A ball is thrown verical

. iy of
upwards ~with the veloclf h
20 ms from the top O ”.
multistorey building. The wn_mr.w
the point from where the ball 18
thrown is 25 m from the ground-
How high will the ball rise from
the ground? (g=10 m/s”)
(a) 20m
(b) 35m
(c) 45m
() 50m
2.  An athlete completes one round of 2.
a circular track of diameter 200 m
in 40 seconds. What will be the
distance covered at the end of 2
minutes 20 seconds?
(a) 2200m g\
1200 Ak
® m 53
(© 700m &,2

(d) 200 m

3. A vehicle starting from rest attains 3.
a speed of 72 km/h after covering
a distance of 100 m. If the mass of
the vehicle is 500 kg, the force

exerted by the engine is ® e %
(a) 20N %\ Ww
I
(b) 100N Q- 4%
() 500N 1P
d
(d) 1000N . q
ax
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A ball of mass 0] kg strikes a 4.
wall normally with 5 speed of
30 m/s and rebounds with a speed

of 20 m/s. The magnitude of
change in momentum of the ball is

(@) 1kgmss

(b) 2kg m/s

(¢) 3kgmis

(d) 5kgmis

The  gravitational ~ force, of @
attraction  between a  stone
weighing 2 kg and the earth
weighing 6 x 10 kg is 19.6
Newtons. What will be the
acceleration produced in the earth?

(a) 9.8 m/s’

(b) 19.6 m/s®

(€) 2210 m/s?

(d) 3.3 %10 /s’

s e T ST 0.1 farelom R,
o AT 8 30mys A wfy A W
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@y 1 kems o/,fr\wﬂ ﬁ.«r
(b) 2 kg m/s o \N g
(c) 3kgm/s PN @
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<= 19.6 = & SEh Tee T FAH
2 kg 300 geall 1 FMH 6 x 10™ ke B
geaft 3 3T Tofel e en B ?

ﬂ el
(a) 9.8 m/s’
(b) 19.6 m/s’
(c) 2.2 x 107 m/s?
(d) 3.3 x 10 m/s*
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6. Two objects A and p are 6.
immersed in water. The M5 of
the objects are 200 kg and % ,_ﬁm
respectively and relative densities
are pa and pg. If volumes cgcﬁ
the object are 2 m’, then the ratio
of relative densities of B, P8 and

A, pi are

—~
0
~
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W A= W= ] —

7. What is the work to be donc to 7.
increase the velocity of a car from
36 km/h to 72 km/h, if the mass of

the car is 1500 kg?
5
A

des:
3

(b) 150 % 10°J W
© 225x10°7 "
\I\

>
(d) 300 x10°J
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(@) 75x10°J
AE 150 % 10°J
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(d) 300x10°J
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8. A certain householg has consumed 8.

250 units of CNergy during a
month. How much
in joules?

(@ 9x105y !
(b) 9% 10%]

(© 27x 10
@ 27%10°]

energy is this

9. The motor of a pump lifts 30 kg of 9.
" water per minute to a height of
6 m. The power of motor is
(g =10 m/s?)

(a) 180W
(b) 120 W'-
(c) 30W"
@ 90w
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© 27%10° &foro
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10. A man stands in between two 10. Aﬂ Tt B <t F o e § el

walls and bursts a balloon. He
hears two successjve echoes after
0:5 seconds and 2.5 seconds. The
distance between the walls when
the spéed of sound is 332 m/s, is

(2) ﬁma‘ [N
by 298 m w%?r
© o)
(€) 518m Q \w.
(d) 598 m ?mv
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11.

ors (i
How many _._.m. Q amnwa_ otk
parallel) are required 10
‘ona 220V line?
(@ 2
(b) 4
(c) 6
d) 8
. A man uses a 100 W bulb § Tours

a day and an electric heater of
300 W for 4 hours a day. The total
cost for the month of November at
the rate of rupees 4 per unit will be

(a) Rs. 160

(b) Rs. 240 bi@
(©) Rs.320 Ah {6 .
d) Rs. 600 T
® (@9
Vzi€
110 = &x I{

11.

12.

176 Q yRdw ¥ fed sy
e § g W R 220 v
forge B & waE A 5 A R
wad?

(a) 2

(b) 4

(c) 6

@) 8
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13.

15,

Which one of the following 13.

statements is not true?
(a) An electric motor converts

" mechanical energy
, electrical energy

(b)

into

>n. electric generator works
on” the  principle  of
electromagnetic induction |

(c) The field at the centre of a

long circular coil carrying

current will be parallel straight
lines

G

A wire with a red insulation is
usually the live wire of an
electric supply

Which of the following is not a 14.
source of bio-mass energy?

(a) Wood

(b) Gobar-gas

(¢) Nuclear energy "
(d) Coal

An object is placed at the centre of 15,
curvature of a convex mirror. The
distance between its image and the

pole is y

(a) Lessthanf

(b) between fand2f
(c) equalto2f

(d) greater than 2f
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ofpower 16, TF =RE o ey o &
A person needs a 1ens " " i T
16 \M.M dioptres for correcting his Mu@.ﬂ:?ﬂ I F feu 5.0 ST sy
distant vision. What i _ﬁmmomm_ ; & HAETTIHAT | TR P
length of the lens requ®® 1OF WA 0 ¥ Ry straws Ju
correcting distant vision? RaET mﬂ%muﬂ Brft? ,
(a) —020m o i @=020m _—0-S .,\mw
- D =
(b) +020m \m, =0 "N®) +0.20m %9
(c) -0.02m (c) =0.02m @
(@ +0.02m /wﬁ& +0.02 m Oy
3 . .
17. The refractive index of glass IS ) 17. 9 H 3w W £.allc S
4 e 4 e
and water has refractive index 3 3 HEI ek FEH
) 8
If the speed of light in glass is 2x10°m/s & @ WHET 1 AT T §
2 x 10° my/s, the speed of light in R m/s €m? o>
water in m/s is W & - O
3 ? g \\L P 3 - of
(a) 1.50 x 10 z Néa (@) 1.50 x 10 a\ _
(®) 178 x 10° N N (b) 1.78 x 10° RN
(c) 225 x 10° «wﬁﬁ \(9-Z25 % 10°
18. The presence of the double layer 18, wieifee 3 Iufedm 3 vl T3 @ Fortl 0
in colloid
oids accounts for %4_4 27 AU

(2) optical properties
(b) kinetic properties
(c) electrical properties

(d) stability of collojgs
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1t
(2) mﬂmﬁmﬂmﬁ_ﬂwf&v_w/\ﬁ
(b) el feieaT -
(c) Forggeta fadwar _—
) Freige i fear
9.

S

19. The intemal energy of a molecule 19, e 370 1 ST 91 Bid &

is its

(a) translational energy
(b) rotational energy
(c) vibrational energy

v

(d) all of these

20.
state?,
(a) they have definite shape and
volume
(b) they have high attractive
forces among molecules
(c) they have high vapour
pressure- :
(d) they have high density and
low compressibility
21. Hydrochloric acid is  sold
commercially as 12.0 M solution.
How may moles of HCI are in
300.0 mL of 12.0 M solution?
(a) 4
(b) 36
(c) 3.6
(d) 12.3

CSDX/A

Which is not true about the solid 20.

21.

(@) il =

(&) o>

() FFF

(@ ek et

Frfafad 3§ 9 3 e ¥ fad w0

& e 87 .

@ o TR T ST R g
2

(b) T STl & e F s aw

ga 311 g 8 ,

ST AT g Wgd T B

N :

(d) 371 T Fgd AUF @ e
(compressibility) SH g g ,

TR F 12.0 et 1 ERGEIG TS

firerar %1 HCI & fFe \Ye 300 Tl #

=i, afe 75 faerm 12.0 M F1 7

@

(a) 4
(b) 36
(c) 3.6
d) 12.3
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22, Copper metal b

)  ropper — 03 (isotopes) Cu—6 .
occurring isotopes - QE_“ §2.94 i nv . fw (69.17%; Fwrentis
(69.17%; isotopic M5 083%: . 94 amu) T Cy - g5
amu) and copper - 6 ¢ .E:g. (30.83 \om TS Some = 64.93
ek isotopic mass = 64.93 amu). What amu) | 979 ) e SN HE
7 @ is the atomic mass of cappet” 0 mwammhwp
1 o T e
‘ w.w Yoy6294amu (% = xﬁa 4 Amu o
wa\ (b) 64.93 amu (b) 64.93 ami N—
J\%na 63.93 amu (c) 63.93 amu m
u/ (d) 63.55 amu (d) 63.55 amu ._n“..u
L 23. The correct order of atomic radius - 23.  GT9] e =7 Wt swm &y ()
& B 5
\
uﬁvJ\ (a) S=F=0 (a) S=F=0
% (b) F>0>S§ (b) F>0>8 m
! P\t (c) F<0<S (c) F<0<S8 a
Xwémuoé . (d) F=0<S
A2 an clement has wo isoiges X** 24. e e foredh @ wHetfiE XOTH X
.EEX found in the ratio of 3 - | Tepfa 1 mupwﬂmﬂmmaﬂﬂ.&m_mﬁ
in nature. The average mass of the e =T SGd ZeTaH BT
element is
(2) 35
aH 40 % a8
b) 40
(c) 35.5 ) oy
(d) 36 bidies
() 36
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25. The compound showing addition 25. 7z ATE Wk sl

26.

27.

reaction
(a) O\_ES,
(b) CH,
(¢) CoH,
(d) CsHg

Compound  showing maximum 26.

melting point is

(a) NaCl

(b) CaO

(¢) MgCl,

(d) LiCl

electrical 27.

Correct  order of

- conductivity

28.

29,

CSDX/A

(@) Al>Cu>Ag>Au
(b) Ag>Cu>Al>Au
(c) Ag>Cu>Au> Al
(dy Au>Cu>Al>Ag
Tomato contains 28.
(a) Citric acid

(b) Acetic acid

(c) Lactic acid

(d) Oxalic acid

AlLO;
producing
(a) Al(OH);
(b) Hy

(c) NaAlO;
(d) Na,AlO2

reacts with  NaOH 29.

(addition reaction) fe@mar®
(@) C4Hio

(b) CHa

{5 CHz-

(d) CsHs

(a) NaCl -

(b) CaQ_—

(©) ZMQN\

(d) LiCL~

fergga =Tee o Wl S BT

<@ Al>Cu>Ag>Au

(b) Ag>Cu>Al>Au

() Ag>Cu>Au>Al

(d) Au>Cu>Al>Ag

AT H HH | & (acid) YT &

(a) T ufts

(b) wHifew ufitrs

(c) ©fes ufire

Ny stertfere s

ALO;Ud NaOH # tamf® fFm @
T T Mo OJkZ?cz

.SZBEU
\&Y'H,
-

(©) NaAlO,
An_v Zmu.>_o~
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30. The substance which cal produce  30. TE el Bl iE Tt
Fererer g

CO, gas with baking soda solution 1T CO, g sm7n m -34. The molecular formula of 34. IEgA TSR TG 1 A0
is 5 i unsaturated cyclic hydrocarbon is o™ Q:o#mn:_m_. 3658.@5
(a) ethanol (2) T i (a) CH
w 14 CeHis
(b) vegetable oil M\v I arre _ (b) CeHy (b) CeH
(c) vinegar 6 fam i sHiz
(d) soap soluti .” () CeHs (c) CeHs
p solution (d) W1 1 ferer ‘,
31. Which is most acidic 31 Ffafea % v s — (d) CsHio ; (d) Cstho
(a) Gastric juice g AT 35. Oxygenated blood from lungs goes 35. iadsH FE TR popH | T &
ﬂc.u_ Lemon juice ‘U - -l m@ . i Qm—.ﬂﬁﬁ—% tothe s .m nﬁ.a._.w
(c) Pure SMH anv MM;H&MW@ | h& Righsatunnn (@) N.Ea%m
ater .
(@) Blood @ : w (b) Right ventricle (b) =i Fed
‘ L AN\ Left atrium (©) ERIEISE
(d) =i Frea

32. Which is an olfactory indi
ry indicator? 332, . _-
Frerferfias 3 g aren Yo s A1 (d) Left ventricle

(a) Methyl orange

e e e e

() Ph . (a) Al oI 36. The absorption of water due to 36. @isha ¥ F Y § v forn T S
enolphthalein ” S orer; .
( (b) AT expenditure'of energy is called ... el
¢) Vani
) Vil e oY afret = g ; (a) Active absorption (a) UfFea TEEEH
(d) Red cabbage extract (d) =Tt St Iger _ (b) Passive absorption (b) A TEER
33. Whatis *X° 92 . (c) Osmotic absorption (c) e TEETEH
CH,CH,OH 50" H>80 i T CathioH % X (@) All of the above (d) v wf
-Hy80s . .
=P El[ﬂuﬂ.lix F X By 37. The growth inhibiting hormone in  37. it # gfg * g FQ e THA
(a) CH;CH, . - plantsis v HAATR?
. ﬁmv Ozuﬁ.:u . . %
(b). CH,=CH, ®)-C | (a) Auxin )
(¢) CH=CH A w H2=CH, (b) Cytokinins (b) TR
¢) CH=CH W bscisic acid (c) ufufes wfas
(d) CH,COOH | (c) >.. scis . . )
~¢) CH;COOH w (d) Gibberellins () =t
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38. ﬂ.ﬂd@ﬂﬂﬁ@wﬂgmm

: 'O
38, Choleraisspreadby . o Che .
»nw ward:_m:v..m: _._i.»./,._r/m.m.” Am._.v 3 .../_ _.Wﬂ._.wqﬁ._ﬂ%.@ n 42. In —@mqu the CH:HO& Nations 42. 1987 .W .ﬁm&m .ﬁ.ﬂ { m_” 1 = _w:
b Drinkin ) " (b) T=TUH Y — Environment Programme (UNEP) (UNEP) # waigefs = & CFC &
\ng - |
. W .”_“a_ N W succeeded in forging an agreement Iqred ) T T E difire w@an sy
) Handshakin (c) T firam 3 ._w to freeze CFC production at L geEAd 27
(¢) Handshaking
(@ Blood to blood contst (d) ﬂﬁﬂﬁ?%@ﬂw@ m (a) 1980 level (a) 1980 T
: E 1 L
39, Cold blooded animals & 39 STEHAT g @ 9 8 - ®) _HMMM __né_ ,M_w\womm =
. (i eve 86
(a) Which have cold blod (a) .@uﬂag@ﬂw ©) 19
B) Wi e terdody (b)Y T A g {a (Toaq fiexel (d) 1987 &R
(b ho can regulate (I .
tem .,. . bk mﬂmm 43. Water harvesting is an age-old 43. a WIEY awa | gd mﬂ._nw wert % Tore
temperature M g 3
(¢) Who feel cold alot (c) Tt 3veT srey . m practice in India, as in Rajasthan it THL T H oo
{(d) Who late their @ =t 1 HEqH e g | was through
d) Who cannot regulat ! T !
e —— 5 ST T A9 TEf e TRy _. (a) Ahars ‘ (a) ﬁw._.m
ot . . b) Kulhs (b) FA
40. The evolved oxvgen dring  40. TRTITE IO " L ' ( i
Sl e e TS e B S (¢) Bundhis - (c) =fem
photosymthesis  comes from the et 2 = A
breakdown of A & AT 37 # (d) Khadins (@) @
(z) Glucose “ 44. Blood pressure and salivation are 44. T <= Al AfATH (salivation) F
(b) CO- - (a) TEHrE m controlled by = a1 v FEfa e ?
() Water (b) T EReFERS __ (a) Cerebrum (a) SIS
{d) Chlorophyll A&w ES) (b) Cerebellum (b) igafEr=
. bns
41. The struct ” (d) FeRIfRer (¢) Hypothalamus (c) TEUdTHE
+ 8 structure produced lgp, )
eal margin of bryophy| whe 41 omifirem 4 aRwt E BCw w0 S (d) Medula (d) #gen .
a - - YoPYlhum gng R se from pre-existing cells 45. ' fFwn Fer 6 EA(MEa A CEEil
afier falling on soil deyelgp, - e e 2 ST ay Q@ ST A WA | 45, Cells ar p vy h
new plant is Pl 2 09 1 S T 27 ! was proposed by HIRTH A &
(2) Seed _ (a) Robert Hauk (a) Robert Hauk
(b) Spore (@) i [ (b) Robert Brown (b) Robert Brown
(c) Bud (b) it L (c) Purkinje rﬁW Purkinje
. £ Virchow (d) Virchow
(d) Fruit (c) wfy @ W

(d) w7



46.
The phenotypic ratio it Mendalian
dihybrid cross is

(b)
) 9:3:
d) 3

47. Which of the following isacerrect 47,

sequence of classification?

(a) Phylum, class, order, family
(b) Phylum, order, class, genus
(c) Phylum, class, mmam:\u. order
(d) Phylum, family, ciass, order

48. In plants water is conducted 48,

through
() Vessel elements
(b) Companion cells
(c) Sieve cells
(d) Sclereids
49. Which of the following is the 49,
function of testes?
(a) Secretion of testosterone
(b) Formation of sperm
(c) Secretion of estrogen
(d) Both (a) and (b)

30. Flame cells are EXCTetory organ of @

(a) Annelida

(b) Echinodermaty
(¢) Coelenterates
(d) Platyhelmingheg

CSDX/A

Few & SRERMS (dihybrid) 3 3
Hﬂ%ﬂﬁw (Phenotypic) smgum =
@ 9:3:1:3

(®) 9:2:2.2.

() w“.u 13171

(d) 3:

%&ﬂﬁ ¥
%ﬂﬂqwﬂﬂ@ Friid FQ 1w
(a) wIETH , T, W7, S

(b) PrEEH, SR, 7o, SE

(c) wIEe™, werme, Siieh, sty

(d) F1sem, Sfieh, Fom, siiet
wmwﬂﬁqggiw@a
?

@) e

(b) @meft Hif3rEm

(c) =mert Ffere

(d) seRriew

JHOT T AT FH 27

(2) TR F B

(b) STy =T Fmiop

() TS =1 srem
(&) M (a) T (b)

T deq (Flame cells) e SR &
VTR 3 37
) Giferer
(b) IS

W e

(d) &&wm_.q ~fis

l
|
M.

and 10 blue socks you want to put

mto pairs. All socks are exactly

same except for their colour, How

many minimum socks would you

need to take with you to ensure

you had at least a pair?

@ 16

(b) 8

© 17

@3

52. A number when divided by 121
leaves 37 as remainder. What will
be' the remainder when the same
number is divided by 11
(@) 3
(b) 2
(c) 4

_ @1

53. UmnmEmH
rational number cannot be

I

52.

representation

(a) terminating
(b) non-terminating
(¢) non-terminating repeating

(d) non-terminating non-repeating

___ . €7

of a 53.

1. Itis dark. You have 10 grey socks 51. <mi aj #97 €l ek 10 faeid

SR 10 A A ¥ TR om SR 1§
qeer e @l S T i
T §| A A A F T e
Ty & e e TR wW E e
T e 1 5 O I A S

(a) 16

(b) 8.

© 7

@ 3

w ge W 121 ¥ mﬁ@a FH W
Tt 37,97 S 21 IS g6 HEa
11 & 9T 2 G Sy B

(a) 3

() 2

e

@1

Teh G HE& 1 gyAed Feaer e
BEsEn!

(a) @

(b) SAaET

(¢) Fa|rt adt
A&\ﬂumﬂ&ﬁﬂm%
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54. Solving forx

(b) -1
@© 1
(d) £1

10
Un

equals

xy

(a)

2y—-x
2y A
y=x

R
2(y-x)

X
2x-y)
Waheeda’s granddaughter is about
as many days as her son jp weeks,
and her granddaughter s 55 many
months as she s jp years. Her
granddaughter, her gy, and
Waheeda together are 120 years
.oa. The age of Waheeds i years
is
(a) 60
(b) 66
(c) 72
(d) 81

(b)

(c)

C)
56.

CSDx/A

54.

IfA*=B'=Cand A’=BCthenz 55,

56.

18
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) —=—

2(x-y)
SR il it <t Y T 3 e 2
e e 8% g7 @ smy )
3Gl Tieft I & T ey R Rt
Fetar i o1y Iut § B 9, SEE @
TS Uit <t 31 T AT 120 = B1 T
i a1y foram ad 87

(a) 60
(b) 66
(c) 72
(d) 81

57. If 2x+y<6(f<q then

57,
(a) y>6
b >
(b) y26 @
Y 0sy<s o N
(d) y<0
58. A taxi driver charges R, 10.50 per 58.
km flat rate in addition to Rs, 20,
Ajoy has no more than Rs. 220 to
spend on the ride. Without
exceeding his budget Ajoy can
travel
(a) lessthan 20 km
(b) less than or equal to 20 km
(c) exactly 20 km
(d) greater than 20 km
59. The condition which must be 59.
mmmmmﬁ by the coefficients of the
polynomial
F(x)=x° - px* +qu—r, when the
sum of its two Zeros is zero is
(@) pgr=1
(b) gr=p
() pr=gq
d) pg=r
)
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afx Ma+u\m9 x<0, @@

@@ y>6
®) y=26
(c) 0<y<6
@ y=<0

s Sl =TeE 20 T Al % W
10.50 793 S km FhUra1 s e 2|
ayeiy 3 T TR 3 ¥ Stfteean Tfy
220 T3 &1 Tl TURT & S A0 H

THaT B @
QM
(&Y' 20 ki & T an®
(b) 20 km IT 35E F ¢
() 20 km ¥ 7 e
(d) 20 km & ATH &a%ﬁ
mmﬂm\.ﬁkuﬂhml.uxu+axtw%ﬁq:ﬂ
i sreen it wqe w5 wgw &
Ea R
bbb Sk P2
(@ pgr=1
(®) gr=p ﬁv
TSNS
= W\ Al
NEYTY e
b AY =
o*d “

. [P.T.O.



. of the poly-
If one of the zer® o 0 1§ wg

at g ahw+ovwm+_wk+mn =T U5

60.
nomial  (a” rm..«-n__wimh is ek mpﬁw 1 3T (reciprocal) 8 <
. . her, then the a STHE
reciprocal of the © ...Tm \
value of @ is ﬂ_ E
(@ 2 ]

M, X (b) 3 og2 ¢ 2 pm

() 3 = &

(c) 4 (c) 4 -Qo\#awm\l

@ 3 @ s

61. If pth term of an AP.isg and gth @ T TR 3 1 pai ue g T g1 vy

term is p, then its nth term i P .w. N IGHT e 72 BT
— (@) prn—gq @o.@ (@ p+n—g
@nﬁwshsé ®) ptg—n
—_ (©g*tn-p ) g+n-p
B @p-amn gy —0%h @ p—q-n
wanwu. The.points (3a, 0), (0, 3b) and 62. mm@mm@u (, stﬁnﬁ 2b)

(a, 2b) i ’

M\m (2) lie on a straight _Emﬂoupv /%@4 g
,‘.M.Uf,ﬁ (b) forms a triangle (b) T Ay T §
I \ﬂﬂ )]

(c) forms an equilateral triangle

M:E.w i1(d) forms a right angle triangle

63. If the co-ordinate of two points A 63.
and B are (3, 4) ang (5, =2)
respectively. Find the co-ordinates
of any point P, if PA = PB, and

(c) T Tag fBys amm #
(d) T gwehiv e s §

afe 3t fargatt A 3R B % Fwris waw:
G, 43 (5,-2) TAfag P &
e 3@ fifs afe PA = PB qun

S area of APAB = 1¢ thu}wgﬁaaﬂﬂo

= 7 0

B (@) (7.2 . 1\ frm- (@) (7,2) @\x

5% 0 T o a9 VS

e (1.2) © @ 5) g
@ :.rm%. Q2 —\© R

Ccsbxaq.  F . 2, 4 &
2T w0 AL IS

¢4. AABCisga right an
which £C =
If BC =

gled triangle, in 4.
90° and cp 1 AB,

a, O>ﬂv.>wnnm:a

CD =p, then |._l+ L

A
b? e
@ = C
p e
|—L
] 9]
b) = Q@
p ! L
2 '3
o =
1 @©
(d) e . .
65. The number of possible isosceles 65.
triangles (excluding the case of
equilateral triangles) with integer
lengths of its sides such that the
sum of any two sides is 10, are
(2) infinite
(b) 16
(c) 13
@8
66. Two adjacent sides of a 66.

parallelogram are 30 _H....msn 14 m
and the diagonal joining the end
points of these sides is % m. The
area of the parallelogram 1S

(a) 168m’
(b) 336 m’
(c) 372m’
(d) 480 m’

21
CSN¥X/A

~__ =

AABC wh @M G @, o
ST CD L AB | 7R

ZC = 90° /
BC=a, CA=b, AB=c SR CD =p,
&PN\TWu I
<0 ¥

(a) wm )

1 N N
b) —

2 D
-1
(d) el
o wit v Ty Bt B g
T (ewerg Bt % aififes) feed
e ‘e S Fl 2 et & A
108 -
(a) ==
(b) 16
(c) 13
(d) 8

T o 9gds it @ g ye
30m 3R 14 m a1 F Y & -

forget <) fremt awt fomt 1 e
40 m R | TR S 1 A6 B
(@) 168 m? 0
(b) 336 m? £, &
© 372 m?
(d) 480 m?
[P.T.O.



67. In the given figure, pisthe nmnﬂﬂm 6.
of a circle : PQL and FEM are F1e
tangents at the %aa.o and R
respectively and $152 point on the
circle such that £5Q
ZSRM = 60°. Then £Q

L=30° and
SR =7

(a) 40°
(b) 50°
(c) 60°
(@) 70°
VA o

A tangent PQ at a point P of a  68.
circle of radius 5 cm meets a line
through the centre O at 3 point Q

so that OQ =12 ¢, Length PQ is

(a)
(b) 13em
(c) 12cm
(d) 85¢cm

68.

119 cm

CSDX/A
22

utest

(a) 40°

info

(b) 50°

(c) 60°

(d) 70°

5 em B % 91 A v Tl pQ,
S P I e 2, 0 % 9% 0
o T Yan A QW e ¥ AR
0Q =12 cm @ PQ ol s &

(a) Vil9em
(b) 13cm
(¢) 12cm
(d) 8.5¢cm

69.
inscribed in a friangle ABC,
touches the sides AB, BC and CA
at point D, E and F respectively.
If AB = 14 cm, BC = 8 ¢m and
CA =12 em. The lengths AD, BE
and CF respectively are

A

(@ 9,3,5
(b) 5,3,9
(c) 9,5,3
(d) 5,9,3
The areas of two similar triangles
are 25 cm® and 36 cm? If the
median of the smaller triangle is
10 cm, then the median of the

F

B C

70.

larger triangle is

(a) 12cm

(b) 15cm

(c) 10cm

(d) 18cm

If four times the sum of the areas
of two circular faces of a cylinder

of height 8 cm is equal to twice the
curve surface area, then diameter

of the cylinder is
(a) 4cm
(b) 8cm
(c) 2cm
(d) 6cm

1.

CSDX/A

70.

71.

23

In the given figure, a circle 9. o 78 PR P ABC 1 ST

&l
£ el AB, BC 3t CA

M" figati D, E 3R F 00wl
2| afe AB = 14 cm, BC = § cm 31K
CA = 12 cm, @1 AD, BE 3R CF &

ﬂnwﬂ_ﬂ”%& 9\@_&\ :
N

% :

@ 9.3,5
®) 5.3,9 o ;

© 95,3

@593 T (@F

& guey gt E] 25 cm® 3R

36 em® €1 IR SR fg A ek
10 cm &t =i Byt < mfeza gt

(@ 12cm -

(b) 15cm

(c) 10em

(d) 18 cm

afe o e, fomeht S gem R, F A&
o o & Sl 3 A 4 T
®, % ¥ 9 @ F gR F W R
T W R

(a) 4cm
(b) 8cm
(€) 2cem
(d) 6cm

[P.T.O.



74

72. A vessel is in th

+oeq of hollow

R

sy a hollow

hemisphere mouri® of the
s gmeter
cylinder. The &+ nd total
. R
emisphere 1s [+ ¢ .
o 1¢m. Find

sl

height of the vesst

. .. e vessel
the inner surface arcd

[\

(a) 572 cm’
(b) 562 cm’

(c) 625 cm’

(d) $26em’

A cone, a hemsphert and a 73.
cvlinder have equal beses and
have the same height. Theratio of

their volumes is

(a) 1:2:3
(b) 2:1:3
(c) 2:3:1
2

(d) 3:2:1

If 90° < § < 180°, and sin () = m_ 7.
5

then tan 0 is equal to

(a) —

4
by 2
OF
© 2
()~

NE)

%m&unﬂ@.@@ﬁ%%%ﬂ:ﬂ
? ek T us @rgen sem sremifg
31 Sl & = 14 om R R Ty
ﬂ&nmﬂwﬂﬂm 13 cm B 39 A &
At g dae @

(a) 572 cm?
(b) 562 cm?
(c) 625 cm?
(d) 526 cm®
SR I UF qum ) T T

A&_“M”u
(b) 2:1:3
(c) 2i3:1
a&u”m“._

Ifz 90° <0< 180° 3R sin0==,

wwe

tan 0 1 94 g1
(a) =
(b)
(c)

(d)

&’N Ol | w N

amutestinfo

75.

6.

~1

_?oocim:ons.

75.
m* -1
then the value of 5 is
m*+1
(a) cos0
(b) sin0
(c) tan 0
(d) cot0

The angles of depression of the top 76.

and the bottom of a single storeyed

building from the top of a

multistoreyed building are 30° and

45° respectively. If the height of

multistoreyed  building  is

124443 m, the height of the

single storeyed building is

(@ 43+1m

(b) 8/3-9m

(c) 8m

(d) 4m

If the mean of n observations

afy, af>, afy,..., afy isak then

(a) oF = afj +afs+afs+..+af,

(b) a(fi+F)+a(fr+F)+..
+a(f,+F)=0

(c) Aah.ua_uv+ﬁh.\..~|53+:.
+(af,-aF)=0

the

77.

(d) 3 (afi-aF)=a

i=l

Ifg sec 0 + tan 6 =,

o =) g A

1

m? +1
(a) cos 0
(b) sin 0
{c) tan 0
(d) cot©
vF wgHfae 9, fomdr  Famd
(12 +44/3) m 2, % fret & 3@ W o
Tt oA F FTEt @R 99 % FaTHA
Fop FHA: 30° SR 45° F| T dha
Ve o T R

(@) 4/3+1m
(b) 8¥3-9 m
(c) 8m
(d) 4m
RIPI CoiC | afy, afz, af3,...afy
o gF R A
(a) aF = afy +afy +afs +...+ af,
(b) a(fi+F)+a(fs+F)+..
+a(f, +F)=0

(¢) (afi—aF)+(af>—aF)+...
+(a f,—aF) =0

(d) .wnj.__ﬁah. -aF)=a



ritten at  78-
il ol _M o_.w is non-
random (digit at 105 P° oy |
Z€ro). The ﬁ_dg_um_:% aller
number will be even bUt 3
than 40 is
8
(@) =
4
b) =
(b) n
1
c) —
(© -
1
d) —
(d) 5
79. In a class in which all students 79,

practice at least one sport, 60% of
students play soccer or basketball
and 10% practice both sports. If
there are also 60% students that do
not play soccer, the probability
that a student chosen at random

from the class, play soccer only, is

(@) 0.3
(b) 0.4
(c) 0.5
@ 0.6
80. Which one of the following is least  §0.
if mean value of X, X = 14

(a) T(X-12)
(b) Z(X-10)
© ZX-15) .
(@) T(X-14)?

CSDX/A
26

T 3 I ATl TE (S8 F T i
A W ®) W Ages forn g
d@wﬂﬁu_ﬁﬁg%po@%w
B Y sl Bt

(@)
(®)

(©)

amutestinfo

(d)

T el § Uls ©F FF ¥ FH T O
FaW & T 81 60% BH Feare a1
AEhEAT 3 10% BF SH1 B e
21 9l 39 F& % 60% BT Gearat TE
ed & 41 & o, i ages g mn
&, & had Feara Ter d1 WIiRar
Huil

I u-.|°°

(a) 0.3

(b) 0.4

(c) 0.5

(d) 0.6

e & fipm 1 wm = B, AR X
AT, X=14%

() L(X-12)°

(b) Z(X-10)?

© Z(X-15)

@) T(X-14)*

situated at which place?

(a) Jaisalmer
(b) Jaipur

&% Jodhpur
(d) Ajmer

person to have won two Nobel
Prizes individually for,

82. Dr. Linus Carl Pauling is the only 82.

81. The famous Mehrangarh Fort is 81. ﬁﬁgﬁu@.ﬁmwwm_mﬂ_@dwﬂ

(a) SEEt

(b) sl

(c) SragL

(d) T

. ferm il T S8 e wfh §
frga =R ®9 F A Fee TERR
R fime e o

@\Oroa_ﬂa\ in 1954, Peace (a) HOE  (1954), Wiy TERR
{ Prize in 1962 . (1962)
(b) Peace  Prize in 1954, (b) Tifd TR (1954), HEER
Chemistry in 1962 . (1962)
(¢) Physics in 1954, Medicine in (c) Fefsram (1954), Afehm (1962)
1962
(d) Medicine in 1954, Physics in (d) Al (1954), Tl (1962)
1962
83. The receptor of sweet taste is 83. WMa o HiaT g & @ v & fore
located at which part of 'human o 3 e g1d 87
tongue?
(a) Base of tongue (a) ST uﬁ.m.ﬂm
(b) Tip of tongue N3 %ﬁnwmmﬂ
(c) Posterior median part of ) %W&@Wuﬂ@ o i
tongue
(d) The edges of tongue - g S & fi @
84. Which of the following is mot 84. 37 & % @1 wel & § Frei et e
..correctly matched? 27 .
(Capitals) (Countries) o) (Trsrerrh) m
th Sudan b - %ﬁv_ i
(a) Darfur - Sou (a) qTRL el
\) Dili- —  East Timor (b) feeit - Efg
\f¢) Dakar . ~ Senegal (c) SR - W
4 Brussels -~ Denmark (d) s®e® - T
27 [P.T.O.
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the world's  first 85.
{4

85. In 1972 el party  Was

nationwide G
founded in
(a) Norway
(b) Netherlands
(¢) Denmark
(d) bcmﬁ_mu\
6. India’s first Insect Museum has  86.
been opened in which State?
(a) Kerala
(b) Assam
(¢) Tamil Naduv”
(d) Odisha
87. Way of removing pollutants or 87.
toxic waste from environment with
the help of living organisms is
called?
(a) degradation
_ {5} bioremediation
(c) integrated disease management
(d) disease contro|
The Red Cross, a worldwide

humanitarian ajd provider, has its
head office in

(a) UK

(b) USA

(c) Russia

(d) Switzerlangy?

8- 88,

CSDX/A

An

(@) ¥

1972 ¥ fama 1 909 A9 0, iy
TR, el e[ §e 7

(a) T H

(b) freteive #

(c) SWEHH

(d) SR : !

W I GEell hIE IR fpw e § |

EheT T 27 .
|

(b) IEH

(c) it Tg *
(d) 3nfEm A
wafa # fous ﬂqmaﬁﬁus%m
2 ) v < Sfa-sigeti A wer |
B 2, 30 T Fed ©7 ",.

(a) &

(b) SfF IR
(c) higa T Waie
(d) T i,
e St wh fva wim weEE
FERII 3 AT Hen R, S yeen
e 37

() 3%.9

(b) geag. A

() w9

(d) Fereeetve

89. The theory of “economic drain of g9,

India’ during British rule wag
Propounded by?

(a) Jawaharlal Nehru

(b) R.C. Dutt

(¢) M.K. Gandhi

(d) Dadabhai Naoroji v~

90. Token currency in India was 90,

amutestinfo

91.

92

introduced by

(2) Qutbuddin Aibek

(b) Itutmish

(¢) Ghiyasuddin Tughlugq

(d) Muhammad bin Tughlug v~

The battle of ‘Ghazwa Ahzab' 91,
took place in '

(a) 4 AH

(b) 5 AH

(©) 6 AH

(d) 7AH

Islam ordains faith in

(a) Prophet Muhammad only

(b) Prophets Muhammad, Ibrahim
and Musa only

(c) Prophet Muhammad and
all  the  Judeo-Christian
Messengers of God only

(d) All the Messengers of God

Siireft ga o T SRA & STl S
an T for 3 feem o?

(a) VeTERET AT

(b) R T - 4
CRERL

(d) TS RISt

e g1 W H TR e R oA

(2) FeadH TH

(b) Segat -

(¢) TETEEH T

(d) HEmTE foF grerh
“TrSteT e el WS Y

(@) 4 fesrlt
(b) 5 =il
(c) 6 fes
(d) 7 =

92.  TrI™ ToRE Ox S o = TRy ar 27

Sy Fords e g
(b) T reart g, g ot T
W

() Rk ¥mer gee o sTgR &
T g wsh agd-dare ¥ i
m

(@) 7gTe % Tt dmai w



93. The first school W3S _*.ocmmna by
Sir Syed Ahmad Khan I
(a) Ghazipur
“(b) Aligarh
(¢) Muradabad
(d) Delhi
Prophet Yahya was the son of 94.
(a) Zakriyay/
(b) Yunus
(c) Isma‘il
(d) Ilyas
95. In Islamic history the ‘most 95.
authentic book after the Quran’ is
known as
(a) Sahih Muslim
(b) Jami’ Tirmidhi
(c) Sahih Bukhari "
(d) Sunan Abu Dawud
96. The First Battle of Panipat was 96.
fought between the forces of
Babur and Ibrahim Lodhi in .ﬂ‘:n
year
(@) 1515
(b) 1520
() 1526
(d) 1556

94

\(dy fegh

%mﬁmﬁﬁﬁmwmﬁmﬂaﬂmﬂ
onifie e
ORE |
(b) refire _
OR:cicic

Y TR T 3 97
(a) SreRiET

(b) I3=

o) T

(d) ==

TErt gfoeE # H ¥ 9w W A
TR TR T ST &

(2) WETE gieem

(b) s faffeft

(o) &ete gt

(d) g7 seES=

‘amutestinfo

T 3T ST el ¥ s e )
wgell wreTs form o g8 ofi?

(a) 1515
(b) 1520

&) 1526
(d) 1556

97.

98.

99.

Which Mughal Emperor shifieq 97. fora wer wae A A Tt S

his capital from Agra to Delhjo Rt @ h? .

(a) Akbar (a) =T

(b) Aurangzeb IOELYEES

(c) Shahjahand”” () Tese

(d) Bahadur Shah ~{(¢J =R ¥R

Muslims of Malabar are called 98, 7 ¥ Trerere™ a1 e 87
() Mopillahs"’ (a) TS

(b) Arabs (b) 3= 17y
_(c) Traders (c) =t o
(d) Migrants (d) eI

To combat the British, Tipu Sultan  99. . 375t & @e # AY gear 3 fhw &

sought the help of TR 9T 7

(@) Dutch (@) =

(b) French (b) wiEwEt v~

(c) Portugese () et

(d) Russians df = .

100. Aurangzeb was the disciple of 100." ARt e et T % e e

which sufi saint?

(2) Mujaddid Alf Thani (a) Heifeg 31e ot
(b) Khwaja Muhammad Masoom (b) &SI Y ARE
(c) Shah Waliullah (ORUEERIERH

(d) Baba Farid Ganj Shakar (d) TSI ig 7it 31t



